FrEIEHR (3)
HERE

2020108 15 H
AR TR

RH#®YD 2020 4F 10 H 29 H 13:00

FE RS LRRHTAE, ASEE L EREX
PRHOWCHERDRW., L2L, TOHE, FHWHEKEE X
NEDE>mTa s s A~NBRINSED, BTHRRBEZ L.

EERME 3.1 OB f: N2 - N A L00oP FHEAETH
52 & ZFEIHE K.

flz1,x2) = z1 + 2.

EEMIE 3.2 RO f: N2 - N A3 GOTO FEAHETH
5 Z & EEHHE K.

flz1,22) = 1 + 2.

EERRE 3.3 AR L OB f: N » N2EZ 5.
A EARL f AYLOOP EHEFRETH B & X, f IX WHILE FH5&
THETH D Z L ERIFIHE L.

EERBE 3.4 FEOLOOP 702 LK TEIRTEIE
A &

EEREE 3.5 AR L L HNBEM N » N2ER 5.
IR BA%L f S WHILE GHEWBETH > TH, fHLOOP 51
HRETH D LIRS AV, REDFHAE L. (> b #E
34 ZHVTH LWV, )

REREE 3.6 HAKE EHABEB f N » NEEZER 5.
A BAEK f AS GOTO FHEFBETH B & &, f 1L WHILE FHH
HEETH D Z & EILHE L.
BEME 3.7 HARBE LB N 5 NE2FR 5.
oy BASL f 2SWHILE SHEWBETH S & &, f 13 GOTO 51
THETH D Z L RIFIAE L.

EMMEE 3.8 XD BI%L infloop: N - N A% GOTO &

HARETH B Z

& ZFEE K.

ERED 21 e NIZXHUT, infloop(xy) 1.

BANFIRE 3.9 RO GOTO 712 T ANHET 2 E 0 B %
fF N2 -N&T5 ZDCE, f2HETSWHILE 702
7 LEMEE XK.

Lq:
Lo:
Lj:
Ly:
Ls:
Lg:
Ly
Lg:
Lo:

IF 27 = 0 THEN GOTO Lo;
T :=x9 + 1;

IF o = 0 THEN GOTO Lg;
T :=x0 + 1;

To = x9 — 1;

T =21 — 1

GOTO Lq;

GOTO Lo;

HALT

JBHNRERE 3.10 YRD WHILE 7’125 ADSEIHT 2 5840 B4k
ZfFN2wN&T5 ZDrE, f23H%$% coTo 71
75 hEREEYE K.

WHILE z; # 0 DO
WHILE 25 # 0 DO
To :=x0 + 1;
To = X9 — 1
END;
Ty :=x1 —1
END




